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Approximation Questions for Bank Clerk Pre Exams.

Approximation Quiz 8

Directions: What approximate value should come in the place of question mark (?) in the
following questions?

1. 820.01-21x32.99+? =240

A. 105 B.173 C.113 D. 234 E. 143

2. 299+ 12x13.95+ ? = 24.02>

A. 285 B. 226 C.325 D. 150 E. 185
24 399
___—?
3. ( ) 899
A.1600 B. 1650 C. 1700 D. 1550 E. 1750

4. 67.99% of 1401 — 13.99% of 1299 = ?

A.700 B. 720 C.770 D. 800 E. 740

5. 5998 + 9.98 + 670.99 — 139.99

A. 1080 B. 1280 C. 1180 D. 1130 E. 1230
6. —(4.99)+(29.98)>-(3.01)*=?
A. 550 B. 590 C. 620 D. 650 E. 690

?

7. 953.7 = 950.9989 = 95°

A. 19 B.3 C.2.99 D.3.6 E.2.7

8. V10000 +>_ 0f1891.992 =2

A. 2500 B. 1230 C. 1640 D. 1525° E. 2130

9. 0.0004 + 0.0001 x 36.000009 =?

A.0.10 B.1.45 C. 145 D. 14.5 E. 1450

10. 137% of 12345="?

A. 17000 B. 15000 C. 1500 D. 14300 E. 900




Correct Answers:

10

Explanations:

1. 820.01-21x32.99 +? =240
~820-21x%x33+7?=240

= 820—-693 + ? =240
=?=240-127 =113

Hence, option C is correct.

2. 299 + 12 x 13.95 + ? = 24.022
=300+ 12 x 14 +7? =242
=25x14+7?=576

=350+ 7?=576

= ?=576-350 = 226.

Hence, option B is correct.

3.

2
2y 38, 4L,
9 39 899

2
)2 (2 400, 20
8 40 900
8”400 900

?=(3) *%0 %0

64 400 900
?x —X—X—=
' 9 * 40 * 40 1600

Hence, option A is correct.

67.99% of 1401 — 13.99% of 1299 =7
? = 68% of 1400 — 14% of 1300
? = 68% of 1400 — 14% of 1300
? = (50% of 1400 + 10% of 1400 + 8% of 1400) — (10% of 1300 + 4% of 1300)
?= (700 + 140+ 112) - (130 + 52)
? = 952 -182 =770.
Hence, option Cis correct.

L N




5.

5998 +9.98 + 670.99 — 139.99

6000

R

10

N

Hence,

——+671-140

600 +531 =~ 1131 = 1130.

option D is correct.

6. —(4.99)% + (29.98)* - (3.01)* = ?

= ? = —(5)°+(30)° - (3)*

= ? = -125+900-81

= ? = 900-81-125

= ? = 694 = 690.

Hence. option E is correct.

7 953.7 g | 950.9989 - 95?

or 95? - 953.7—0.9989

or, 957 = 95>7

or,?=2.70

Hence, option E is correct.

8. VI0000 +>>= 0f 1891.992 =2
3

or, ? =100+ < of 1900 = 100 + 1140 = 1230

Hence, option B is correct.

9. ? =0.0004 + 0.0001 x 36.000009

=4 x 36.000009 = 145

Hence,

option Cis correct.

10.

? =137 % of 12345

= (100 + 37) % of 12345
= 12345 + 4570 = 17000

Hence,

option A is correct.
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